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1. REERDOE
(1) EHENa
EXMEERT 2,000 2,000 0
EARMEZIRFE 2,000 2,000 0
ZNHE 7,695, 000 8, 255, 000 A 560, 000
ZNHE 7,695, 000 8, 255, 000 A 560, 000
E € SI)EA 900, 000 910, 000 A 10,000
tEEREEE RN 800, 000 800, 000 0
MEFHEE RN 100, 000 110, 000 A 10,000
EIE=C)UN 0 0 0
ZEHBIESF 12, 244, 000 12, 144,000 100, 000
S A AHERHEEE 7,825,000 7,825,000 0
SENBERE BN 0 0 0
ZRHESEERSE 300, 000 200, 000 100, 000
S A AHERZEEA 4,119, 000 4,119, 000 0
ZMHFMNE 0 3,591,000 A 3,591,000
ZMHFNEIRER 0 3,591,000 A 3,591,000
ERBAEERRARIXA 6,498, 000 3,155, 000 3, 343,000
BRI AREER 6,498, 000 3,155, 000 3, 343,000
HMEINEE 400, 000 400, 000 0
ZEFIR 0 0 0
MEINZE 400, 000 400, 000 0
EEUNRET 21,739, 000 28,457,000 A 718,000
(2) BEER
£S5 18,399, 000 22,511,000 A 4,112,000
farEEY 8,569, 000 10,824,000 A 2,255,000
PRSESE 1,236, 000 1,824,000 A 588,000
BHELE 1,478, 000 1,950, 000 A 472,000
REZRE 1,093,000 1,304, 000 A 211,000
BIEERE 750, 000 895, 000 A 145,000
HFEmE 887,000 981,000 A 94,000
FIRIRAE 2,131,000 2,688, 000 A 557,000
afest 1,393,000 1,185, 000 208, 000
FEHE 722,000 695, 000 21,000
FER 44,000 26,000 18, 000
E/N=iskq 12,000 12,000 0
< IBhRkE 0 0 0
PIRNE 0 0 0
Z:tE 0 0 0
ME 84,000 127,000 A 43,000




# = THEHR RIFE T 18R
EHE 9,904, 000 11,517,000 A 1,613,000
farEEs 889, 000 3,590,000 A 2,701,000
PRI ESE 1,484, 000 0 1,484, 000
REHCIER 800, 000 1,000, 000 A 200, 000
BHEEE 528, 000 747,000 A 219,000
REBE 2,602,000 2, 644, 000 A 42,000
BISERE 231,000 200, 000 31,000
BAIEENE 10, 000 10,000 0
HFEmME 199, 000 195, 000 4,000
FIRIZRAE 295, 000 281,000 8, 000
SR 1,106, 000 1,099, 000 7,000
EE 440, 000 440, 000 0
FHR 42,000 30,000 12,000
EGTNS S 81,000 81,000 0
BZ/N =ik 675, 000 674, 000 1,000
&5tE 154,000 154,000 0
ME 368, 000 366, 000 2,000
EHEERE 28,303, 000 34,028,000] A 5,725,000
SR R A S AR 1R RER A 564,000 A 5,571,000 5,007, 000
iR Et 0 0 0
HHAE IR RIER A 564,000 A 5,571,000 5,007, 000
2. EEINMERDER
(1) EEHMXE
EEIMREET 0 0 0
(2) BENER
EENEmREt 0 0 0
HHRRE B IME RS 0 0 0
= E TR E AT = i — A E R BEEER AR A 564,000 A 5,571,000 5,007, 000
fh=EHREER 0 0 0
fh=EHEAER 6,498, 000 6,909, 000 A 411,000
fb=EHEAER (IR4R) 0 3,754,000] A 3,754,000
fh=EHEARR (EEFF) 0 0 0
b= EHHE A ER (BEARRAEERRER) 6, 498, 000 3,155, 000 3, 343, 000
fb=EHELER A 6,498,000 A 6,909, 000 411,000
U AR IEMRBAEE ISR ER A 564,000 A 5,571,000 5,007, 000
—RRIEMREAEERA B P& 4,994, 000 8,425,000 A 3,431,000
—RRIEMRBAEERAAR A 4, 430, 000 2, 854,000 1,576, 000
I fEREIEMRBAEERIRIODER
2= 2N T 0 0 0
2= 2N T 0 0 0
—HRIEMRBAEEN DIREEER A 6,498,000 A 6,746,000 248,000
& 0 A 3,591,000 3,591, 000
BEARE A 6,498,000 A 3,155,0001 A 3,343,000
AT RE IEDRBAEE R RIAR A 6,498,000 A 6,746,000 248, 000
TEEERMAER RS 109, 220, 000 114,125,000{ A 4,905,000
TEEIEMREAEERAR YRS 102, 722, 000 107,379, 000] A 4,657,000
Il IERREAEEERRDRS 107, 152, 000 110,233,000 A 3,081,000




